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1= Choose the correct answer :
1- Rewrite your composition again. The prefix re means to do it

a) next b) again c) first d) last

2 -We should protect our planet. Protect is similar in meaning to

a) collect from b) increase ¢ ) damage d) keep safe
3-The flies in the air with the help of a computer

a) drought b) plight c) drone d) throne

4- We have got a to help us with the housework,

a) robot b) radar c)imonorail d) floating farm
5- If your body temperature ---------------- , take these pills

a) raises b) rises c) arises d) arouses

6 The word definitely is synonym of the word

a) certainly b) perhaps c) probably d) possibly
7- The opposite of take off is'( take away — take down - land =take on )

8-The ( plane - helicopter — drone - airplane ) has no pilot .

9- To reduce pollution , people should use ----======s=---- transport rather than their cars.
a) public b) private c) publicity d) local

2= correct the words between brackets :

1-We (are able to go ) the stadium if we have the tickets.

2 -Egypt ---------n---- (#to selve );the economic problems viaits giant projects.
3-We (able to ) travel in time.

4- 1 (am ) 6 next year.

5- Don't make noise or | ( dismiss ) you .

6-1am cold .I ( am going to ) wear my coat/

7- My father ( buys ) me a new tablet if | pass my exams.

8-My sister will be ( capable ) to solve this maths problem
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9- | think he ( achieve ) his goal .

10- (Do) You lend me a sum of money , please ?

3- supply the missing parts in the following dialogue :
Mariam and Rola are talking about the future

Rola : How will be able to feed the increasing population

Mariam

Rola : e ?
Mariam : No, desert reclamation islnot too d!fficult

Rola : ?

Mariam : The underground water as well as *reating sea water

Rola
Mariam : Floating farms.? Will be able to carry out these projects ?
Rola
Will - renewable - fuels - won't - recycle - cut down

We should do our best to keep.the environment clean. We mustn't
trees because they absorb carbon dioxide. Also, we mustn't burn fossil =========eeee---- to
avoid

to avoid climate change. That's why we should use energy.and wind

power. So, we be able to live in a safe environment

4- Read the following, then answer the questions:
A tourist has been found-after spending five days in the desert.Hewent for a walk

and must have got lost. He was delighted when a farmer found him. The farmer
gave him water and told him that he should have taken a phone and lots of water
into the desert. Then the farmer took him to a hospital. When he got there, a
doctor advised him to sleep and drink lots of water, but said that he was not hurt.
We interviewed the tourist when he got home. He asked us to thank

the farmer and the doctors. He said that if he went to the desert again, he would be
5
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much more careful.

A- Answer the following questions:
1 - What happened to the tourist when he went for a walk?

2 - Why do you think that the farmer said that he should have taken a phone?

3 - What did the doctor say that the tourist should do?

B = Choose the correct answer :

4 What do you think the'word delighted means?

a) very sad b ) very thirsty c) very happy d) very ill
5 What does the underlined word there refer to?

a) thedesert  b) the farm c) the hospital d) the man’s home
6- | think the farmer was

a) cruel b) generous c) miserly d) unkind

o= Choose the correct answer :

1- Rewrite your composition again. The prefix re means to do it

a) next b) again c) first d) last

2 -We should protect our planet. Protect is similar in meaning to

a) collect from b) increase c ) damage d) keep|safe
3-The flies in the air with the help of a computer

a) drought b) plight c) drone d)throne

4- We have got a to help us with the housework.

a) robot b) radar c) monorail d) floating farm
5- If your body temperature ---------------- , take these pills

a) raises b) rises c) arises d) arouses

6 The word definitely is synonym of the word
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a) certainly b) perhaps c) probably d) possibly

6 Complete the sentences with the correct form of the word(s)

in brackets.

1 -1 will be ( enable ) to built a new house by myself
2 - hope you ( repaid ) all your debts next year.

3- He (would ) buy me some chocolate tomorrow
4- My birthday is next week. | --------------= (am ) 20 years old.

'{= Write a paragraph of about one hundred and ten words about :

" life in the future

Write about transport, food and the environment.




